Aim
    : To find the root of Transcendental Equation           
     (x – Cos(x)=0)using Newton-Raphson Method.

Program  :

#include<iostream.h >

#include<conio.h>

#include<math.h>

float f(float x);

float f1(float x);

void main()

{


clrscr();


float a,b,c,d,temp;


int n;

for(int i=0;i<10;i++)


{


a=i;



b=i+1;


   if((f(a)*f(b))<0)


   {



if(abs(f(b))<abs(f(a)))



a=b;


cout<<"enter the no. of iteration";




cin>>n;



for(int i=0;i<n;i++)



{



  
a=a-(f(a)/f1(a));










cout<<"\n"<<j+1<<"iteration"<<"\t"<<a<<"\t"<<f(a);



}


   }


}


getch();

}

float f(float x)

{

return(x - Cos(x));

}

float f1(float x)

{

return(1 +sin(x));

}
OUTPUT:
enter the no. of iteration 15

1iteration      0.750364        0.018923

2iteration      0.739113        4.649389e-05

3iteration      0.739085        7.747024e-09

4iteration      0.739085        7.747024e-09

5iteration      0.739085        7.747024e-09

6iteration      0.739085        7.747024e-09

7iteration      0.739085        7.747024e-09

8iteration      0.739085        7.747024e-09

9iteration      0.739085        7.747024e-09

10iteration     0.739085        7.747024e-09

11iteration     0.739085        7.747024e-09

12iteration     0.739085        7.747024e-09

13iteration     0.739085        7.747024e-09

14iteration     0.739085        7.747024e-09

15iteration     0.739085        7.747024e-09

Answer:
Solution of Eqn x –Cos(x) = 0 is 0.739085 (Corret upto six decimal places)
